Revision

. Write in figures :

(a) Seven hundred eighty (b) Eight hundred seven

(c) Six hundred fourteen (d) Four hundred ten

(e) Five hundred five (f) Eight hundred one
. Write in words :

(a) £899 (b) < 279 (c) £820 3

(d) £973 (e) ¢ 561 (f) €419 3
. Circle the smallest number :

(@)l 975 168 253 564 (b) | 525 205 215 127

(c)| 608 156 377 955 (d) 195 815 718 456
. Circle the biggest number :

(a), 816 618 812 781 (b) 136 613 307 475

(c)| 250 820 703 500 (d) 710 615 705 890
. Write in ascending order :

(a) 525, 255,552,152 (b) 1302,202,162,438

(c) 596, 356,843,569 (d) 668, 506,938,613
. Write in descending order :

(a) 472, 429, 189, 981 (b) 778, 316, 199, 597

(c) 668, 227, 896, 734 (d) 567,938, 999, 847
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7. Put >, <or=in the blanks :
(a) 625 637 (b) 272

(e)472 472 | (f) 587
8. Write the following :

(a) Biggest 2-digit number
(c) Biggest 3-digit number

489
578

(c) 668 886 (d) 316 199

(9) 852 945 (h) 450 450

(b) Smallest 2-digit number
(d) Smallest 3-digit number

9. Write the given numbers in short form :

(a) 500 + 50 + 5 =
(c) 300 +10+7 =

(e) 900 +90+9 =
10. Write in expanded form :

(a) 529 = (b) 617 =
(d) 864 = (e) 919 =
11. Add the following :

(a) (b) (c)
HTO HT O H
510 7 15 8

+2 6 1 +2 0 2 +0

12. Find the sum :
(a) 475 and 325 =

(d) 116 and 585 =
13. Solve the following :

(b) 600 + 30 + 8 =
(d) 600 +40 + 1 =
(f) 700 +60 +4 =

(c) 309 =
(f) 761 =
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(b) 238 and 54 =
(e) 545 and 418 =

(c) 938 and 61 =
(f) 198 and 459 =

(a) A shopkeeper has 52 green and 116 white shirts. How many total shirts

does he have ?

(b) In a school, there are 35 students in section A, 142 in section B and 248
in section C. How many total students are there in the three sections ?
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Subtract the following :
(a) (b) (c) (d) (e)

HTO HTO HTO HTO HTO
4 3 6 6 0 7 8 9 6 8 4 7 5 3 1
-1 50 -3 8 2 -1 4 2 -4 1 4 -3 9 7

Find the difference :

(a) 575 and 235 = (b) 238 and154 = (c) 732 and 345 =

(d) 916 and 585 = (e) 845 and 708 = (f) 431 and 249 =

Solve the following :

(a) There are 514 fruit trees in an orchard. If 386 trees are of mango, find
the number of other fruit trees.

(b) There are 809 cattles in a shed. If 203 are cows and 373 are oxen, find
the number of other cattles.

Multiply the following :
(a) 32x4= ] (b)52x2= (c)10 x 6 = (d)81x9=

(e) 99x3=( ] (f) 27 x5= (g) 62 x 5= (h) 56 x 8 =
Solve the following :

(a) Vaishali bought 12 packets of chocolates. If each packet contains 5
chocolates, how many total chocolates does she have ?

(b) Nishchal bought a book for ¥ 8. How much money does he have to
spend to buy 32 such books ?

Divide the following :

(@) 6)42 (b) 8)32( (€) 4)84( d) 6)216( | (e) 4)372(

Solve the following :

(a) 63 toffees were distributed equally among 9 children. How many toffees
did each child get ?

(b) 7 buffaloes give 56 litres of milk everyday. How much milk does each “
buffalo give in one day? |
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Write the fractions for the given shaded shapes :

(a) (b) (c)
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Add the following :
(a) (b) (c)

m cm kg g [ m/
24 56 20 165 56 315
+16 48 +378 098 +68 278

Subtract the following :
(a) (b) (c)

m cm kg ¢ [ m/
67 85 48 210 75 170
-13 95 - 36 595 -38 275

Fill in the blanks :
(a) Smaller unit to measure length is
(b) One kg has g.

(c) Smaller unit to measure capacity is

(d) 1 hour has min.

(e) Ayear has days and weeks.
(f) 153 75p has p.

(9) month has the lowest number of days.

(h) Last day of the week is

(i) Acuboid has surfaces.
(j) Acone has vertex.
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25. Solve the following :

26.

(a)

(b)

(€)

(d)

(e)

A container had 25 / petrol, of which 4 [ 175 m/ leaked away. How much
oil is left in the container now?

If a shirt is made of 2 m 15 cm cloth, how much cloth will be required to
make 3 such shirts?

A shopkeeper bought 25 /, 38 / and 80 / milk from 3 persons respectively.
He used 38 / 250 m/ milk to make curd and 15 [ 275 m/ milk to make
paneer. Now, how much milk is left with him?

Rudransh had 13 kg 25 g of rice, of which he donated 9 kg 425 g. How
much rice is left with him now ?

Priyanka had 5 notes of ¥ 10 each. She bought a pair of socks for 28 % 45
p and a tie for 17 % 28 p. Now, how much money is left with her?

Solve the following :

(a)
(b)
(€)

(d)
(e)

Which is the first day of the week?

How many days are there in a leap year?

What will be the time if the hour hand is at 8 and minute hand is
at 127

What is a crooked line called ?

How many months have 31 days ?
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